Seat No.

Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination
Subject Code: C300011

Date: 08- 01-2016

Subject Name: Basic Chemistry (Group 4)

Time: 02:30 PM TO 04:00 PM

Instructions:

1.

Attempt all questions.

Total Marks: 70

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. Question Text and Option. Y&l sl [Ascl.
is the strongest chemical bond between molecules.
1. A hydrogen bond B. ionic bond
C. covalent bond D. Metallic bond
URQRAL LA lotcll GluHL oitt Al 1oyt Sl B.
1L A slgglel ciy B, wa@s viu
C. s dalws oiu D ulus ciu
Decomposition of H,0; is slow down by adding
2. A HsPO, B. HCI
C. HSO,4 D. NaCl
H20; of (Aeteet 1y sl {2 GRRaAHL A B,
A HsPO, B. HCI
C  H;SO,4 D. NaCl
NaCl contain bond.
3. A.  hydrogen bond B. covalent bond
C. ionic bond D. Metallic bond
NaCl AU E)
3. A slgglet e YA
C. wals (s
KMnO, is a catalyst.
4. A Auto B. Positive
C.  Negative D. Promoter
KMnO, Gelus 8.
¥. A e B ot
C. syl D.  Gauws
catalyst used in Haber process.
5. A Fe B. Pb
C. 2Zn D. Al
ok utddi _ Gelus duRa B,
A Fe B. Pb
C. 2Zn D. Al
Which molecule has BCC type structure?
6. A Cr B. Al
C. Mg D. Zn
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10.

0.

11.

1.

12.

.

13.

3.

14.

ll AR BCC YSslRaj olulRel uRld 8.

A. Cr B. Al

C. Mg D. Zn

Which compound is strong electrolyte?

A. NH4CI B. CH3NH;

C. NH; D. HCI

sll Ueld oo (Qgd Qeuwu &2

A. NH4CI B. CH3NH;

C. NH; D. HCI

What is the effect of dilution of solution on degree of ionisation?
A. Constant B. increase

C. Decrease D. All of the above
alalll ol He sl w2Ao(l50L il GUR 9 WU UA?

A a8 B aud

C. wed D. GuRell ot
pH + pOH =

A 14 B. 0

C. 7 D. 11

pH + pOH =

A 14 B. 0

C. 7 D. 11

Value of Kw for water at 25°C is

A. 10" B. 10’

c. 10" D. 10’

25°C dluHlal wgll 2 Kw ofl (3uc sl B.
A. 10" B. 107

c. 10" D. 10’

What is the pH of solution having a concentration of H" is 0.001 M?
A -3 B. 3

C. 2 D. 1

0.001 M H* oll igcll ulctcll aladl ol pH 9 &7

A -3 B. 3

C. 2 D. 1

Boric acid + Borax is an example of buffer solution.
A. Acidic B. Basic

C.  Neutral D. Salt

ARs AR + cle W$R alall of GelgRaL B.
A ARRs B.  als

C. de D ez

Oxidation occurs at in electrochemical cell.

A. Anode B. Cathode

C. Salt bridge D. A-meter
loga@ls s\l UR &Rl AUl B.

A Qs B, ¥als

C. awraq D Ale:
Electrode potential of standard hydrogen electrode is

A 12 B. 22

C. 0 D. 1
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.

15.

Q.

16.

6.

17.

9.

18.

.

19.

20.

0.

21.

1.

22.

YHIRA sles st gt oll WA aa ®.

A 12 B. 22

C. 0 D. 1

Which method used for purification of metal?

A. lonization B.  crystallisation
C.  reverse 0smosis D. sublimation
tlq ol 9t sl 58 Ue(d dua B,

A aelsel B. 3RGs:wl
C. Rorl AR D. Geduldet
Reaction is responsible for corrosion.

A. Oxidation B.  methylation
C. Redox D.  reduction

&R0 ML Yyl clHER B.

A A B Raadast

C. Wat D dAssatet

In Galvanic corrosion, corrosion take place at

A.  Anode B. Cathode

C. Salt bridge D. A-meter

AcAlls aReL Hi allRkel R Ul 9.

A Qs B. ¥alls

C. araq D Axle:

Oxygen rich part in waterline corrosion act as

A. Anode B. Cathode

C. Salt bridge D. A-meter

Wl Ui aRel Hi ay disllaet URnadl el

A Qals B 3als

C. awrdq D Aule:
Metal used for protective coating in galvanizing.

A.  Fe B. Al

C. Pb D. Zn

dlcAatisol Ui Ul R&UBUHS US HIE dAURA B.

A Fe B. Al

C. Pb D. Zn

Which salt is responsible for hardness in water?

A. NaCl B. MgSO,

C. FeSOq4 D. NHCI

sell &l WRllol s(Betcll HIZ SUNHER B,

A. NaCl B. MgSO,

C. FeSOq4 D. NHCI

Which salt is responsible for temporary hardness?

A. CaHCOs3 B. (CaSO,

C. CaCl, D. MgSO,

sl &R alalls s(dotcdl M2 FHER B.

A.  CaHCO; B. CaSO,

C. CaCl, D. MgSO,

1 ppm = mg/liter

A 1 B. 10

3% ad ®.
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2.

23.

3.

24,

RY¥.

25.

QU.

26.

6.

217.

R39.

28.

RC.

29.

RC.

30.

C. 100 D. 1000

1 ppm= mg/liter

A 1 B. 10

C. 100 D. 1000

Which chemical is used to remove sludge from boiler?

A. CaSO, B. EDTA

C. DMF D. MgSO;,

QSAR MY MaHEA g2 sdal %j U B.

A. CaSO, B. EDTA

C. DMF D. MgSO;,

In ion-exchange process

A.  Rubber B. Alcohol

C. Ester D. Resin

let QM weel(AHl 601 WRll A oM sloilalal

A 001R B, aucslélet

C. Aw? D. 3t
chemical is used in chlorination of water.

A. HCI B. HOCI

C. NacCl D. NH4CI

wQlotl sARlA et Hi AURALL AURIA B,

A. HCI B. HOCI

C. NacCl D. NH4CI

Minimum one present in organic compound.

A. O B. C

C. N D. S

slollals Ueldul BeHL WO As sl 8.

A. O B. C

C. N D. S

Valancy of carbon is

A 1 B. 2

C. 3 D. 4

sl0lot ofl U5l .

A 1 B. 2

C. 3 D. 4

How many sigma bonds in acetylene?

A 1 B. 2

C. 3 D. 4

ARRAt Hi 3ectl Rom ol wAdl sl B?

A 1 B. 2

C. 3 D. 4

Cyclo propane is compound.

A. Alicyclic B.  Aromatic

C. Heterocyclic D. Acidic

AlAsAl Yot ueld 8.

A QAaascls B.  QAnRs

C. (Qun usla D. ARBs

Saturated hydrocarbon has a bond

A. Single B. Double

C. Triple D. Hydrogen

is used to convert hard water to soft water?

dURA B.
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30.

31.

34.

32.

3R.

33.

33.

34.

3%.

35.

34,

36.

36.

37.

Al sl glsiolat ol wRaARA 8.

A s B. [
C @A D. a5 oyt

Organic compound having a same molecular formula but different structure is called
A. isotope B. Recemic

C. Isomer D. Isotones

UL AURQJGR URd %EL YEL GitlRQL YRl sl0llls ueld a 58 .
A sy B. aMs

C. unues D auselet

Diethyl ether and ethanol is example of isomerism.
A.  Geometrical B.  Structural

C. Functional D. Chain

SIS SUSH SU Wal SAllA AHUSAL oll BELERN .
A dl@s B slurella

C. wye D gjumeu

Which compound shows optical isomerism?

A. Methanol B. Ethanol

C. Ethane D. Lactic Acid

sl Ueldl ysilela auuesdl eald d.

A DA B. g3t

C. 8ot D.  Asdls AR

Sis and Trans are isomer.

A.  Geometrical B.  Structural

C. Functional D. Chain

R A 2let UHURS B.

A dR@s B. sluirella

C e D qua
Chloroethane is an

A. Alkane B. Alkene

C. Alkyne D. Aldehyde

sAlRB Al 8.

A auckel B @t

C. uesitet D w@sles

Which compound reduce a friction between two moving surface?
A. Adhesive B. Insulator

C. Refractory D.  Lubricant

sell Ueld A ARscl AWl a of urdel weld B.

A Rl B aues

C. R¥sedl D. Gus

Graphite is an example of lubricant.

A. Solid B. Semi Solid

C. Liquid D. Natural
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39.

38.

3¢.

39.

3¢C.

40.

¥0.

41.

¥q.

42,

¥R.

43.

¥3.

44,

Y.

AsLse Bs of BElSA B.

A det B, utuet

C. yad D. ge2dl

What is called required milligram of KOH to produce soap from oil?
A. Acid Value B.  Saponification Number
C. Basic Value D.  Neutralization Number
Act Hiell Ao sletiaal %331 KOH oll Ao o 9 sdaual ?
A QRS s B augellseul uis

C. als uis D qe@As20L uis

In polymer repeating unit known as

A. Degree of Polymerisation B.  Polymerisation

C.  Monomer D.  Thermoplastic
Wellir ui uado{la Asy 3% Aau B.

A wgldswl vial B. QellurieBatet

C. el D apilhveu@s
Polyethylene is an example of polymer.

A.  Thermoplastic B.  Thermosetting Plastic
C. Natural D.  Semi synthetic
Wdls@lot WAlHR of GelgRal B.

A alvau@s B. s RBarcuiRs

C. sexdl D. Al R8s
Thermoplastic have chain.

A. Inter crossed B.  Branched

C. Short D. Linear

AR s Juicl urla B.

A uidR oild B auulla

C. sl D 2l

Which type of polymerization used to synthesize polystyrene?

A. Condensation B.  Addition

C. Graft-co D.  None of the above
Wdlzelalet oletlaal sl Ysike] WAlHASBAA scUH WA & ?
A Ridotel B aoellet

C. ausesl D GuR well As uwl 18l
Bakelite made from

A. Phenol + Urea B.  Phenol + Formaldehyde
C. Phenol + Acetone D.  Phenol + Methanol
AXCUsR il o ®.

A dald + YRa B dlaAlct + SuiReles
C. Qe + A2t D dlolldt + AAAc
Monomer of Natural rubber is

A. Isoprene B.  Neoprene

C. Butene D Pentene

A 56l 20012 ol WoAHR @



45.

¥4,

46.

¥S.

47.

¥O.

48.

¥C.

49,

¥C.

50.

vo.

51.

uq.

A sAet B. Rt

C. wyRd D Qadlet

used in vulcanization of rubber.
A.  Oxygen B.  Phosphorous
C.  Sulphur D. Nitrogen
0GR ofl ACKABRBAAH cAlURAMHL uLA B,
A Asloset B, slageu
C. ues D sugdloset
Buna-sis a rubber.
A. Natural B.  Synthetic
C.  Semi Synthetic D. lonic
Buna-s YslRo] 6012 8.
A gerdl B.  R.2dls
C. Al RAds D. s
Which chemical used to binding two surfaces?
A. Adhesive B. Insulator
C. Refractory D.  Lubricant
A AUWERAA Hsall sl UELE dAuR(A B,
A ol B. yauss
C. 2sedl D. Gs
Absorption theory can explain type catalysis.
A. Homogeneous B.  Heterogeneous
C. Positive D. Negative
wlalmel ot Reaid el YsRej Geluat Axendl aslal.
A uuiol B [@Quuiat
C. ud D. g
Property of an oil to stick on the surface of machine is called
A. Oiliness B.  Viscosity
C. Surface Tension D. Fire Point
ad oll Hellet ofl Awdl uR A2l @ittt dQRiud o 5& B.
A ddlug B Goloudl
C. ywdwl D. ol
Flash and fire point of lubricating oil is determined by apparatus.
A. Redwood viscometer B.  Refractometer
C. Able’s D. Schiff
Gos of vOIAE WA alstst (g ollHotl Uluet gl Ll astt.
A Rsgs [@QslalleR B Aysdllle?
C. Quxt D. s
Phenol formaldehyde resin is commercially known as
A. Neoprine B. Bakelite
C. Teflon D. Buna-s
glollct SIHIR sl Addet oA AauA B.

A Rt B. Q¥cuse



52.

Y.

53.

u3.

54,

uy.

55.

uu.

56.

us.

S7.

9.

58.

uc.

59.

C. 35clot D gett-alY
Polymer polytetraflouroethylene is also known as

A. Neoprine B. Bakelite
C. Teflon D. Buna-s
Polytetraflouroethylene Wc{lHR S IRVEENTTOR)
A QARet B, Q¥ause
C. ¥sclot D gett-Au
Which element is inert?

A H B. CI

C. He D. Na

sll cdecl RS B?

A H B. CI

C. He D. Na
Oxygen gas contains bond.

A. Single B. Double
C. Triple D.  Neutral
wslogat cly ol wRA B,

A As B. @
Which catalyst used in Friedel-Craft process?

A. AICl; B. HCI

C. NaCl D. NH4CI
slsct 152 Ueldui sl GElus durlA 8?2

A. AICl; B. HCI

C. NaCl D. NH4CI
pH value of lemon juice is

A 11 B. 9

C. 7 D. 2

loy otl 2™ oll pH s 8.

A 11 B. 9

C. 7 D. 2

Which solution resists the change of pH while adding some amount of acid or base?
A. Acidic B. Basic

C. Buffer D. Neutral

sell alalal Hi Sl Hiot HE ARLS AUl As GRRAl 9l Aoll pH HL 2512
Al o el?

A ARRs B. alds
C. w2 D. e
What is the unit of electric conductivity?

A. Ohm B. Mho
C. Ampere D. Volt
Qg clescl ol AsH 9 B?

A ullen B aal

C. AR D.  dlee
In which medium corrosion is minimum?

A. Acidic B. Basic
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ue.

60.

SO.

61.

SA.

62.

SR.

63.

S3.

64.

S¥.

65.

SU.

66.

SS.

C. Salty D. Neutral
Sl HIRIHHL 8URRL oYotclH ULRL?

A ARRs B. als

C. R ysd D. deau

1 ppm = degree clerk

A. 01 B. 0.01

C. 0.07 D. 0.7

1 ppm = (3ol scté

A 01 B. 0.01

C. 0.07 D. 0.7

Methane has type of Hybridisation.

A SP B. SP?

C. SP° D. DsP?

hBE UslRe] 450 UAA B.

A SP B. SP?

C. SP° D. DsP?

Which compound has ketone functional group?

A. Acetaldehyde B.  Phenol

C. Acetone D. Benzene

59 qAol Slalot (Baellet uys uvAA 8?2

A Al sles B.  dllct

C. Alla D. Gt

Monomer of polyvinyl chloride is

A.  Vinyl alcohol B.  Vinyl chloride

C.  Polyvinyl D.  Vinyl benzene
A WA(QaAscAsARES ol AoAlHR B.

A [Qeuse w8l B.  [Qousset sAlRESs

C. Ql@euse D. [Qoussct ARet

Sodium silicate act as

A. Insulator B.  Adhesive

C. Polymer D. Rubber

Asan RA3e A3 ad 8.

A uass B. ol ueld

C. Qdx D 2002

Fe contains type of bond

A. Hydrogen B. lonic

C. Metallic D. Covalent

Fe YsR oll ol uA 8.

A sl Qlesel B wals

C wlus D usudlws

A decay of metal known as

A. Corrosion B.  Protection

C. lonisation D. Galvanizing

Ul of Wil 3% Aaua B.

A aRel B, 2a
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67.

SV.

68.

SC.

69.

70.

90.

C. yaels:el

a8l

Oxygen is

A. Oxidizing agent B.  Reducing agent
C. Complex D. Acidic
wlsAoget A

A QsARatet sl Assalet sl
C. dldd D. ARRs

Which is conductor of electricity?

A. NaCl solution B. KCl solution

C.  NH.Cl solution D. All of the above
oLl sl ueld [Agd cles B2

A. NaCl slalal B. kel alaul

C. NH.CI alag D. Guzell ottt
Concentration of HCI solution is 1 x 10 M, find the pH.

A 2 B. -2

C. 3 D. -3

HCl el ofl Aiscll 1x102M & l pH 0L

A 2 B. -2

C. 3 D. -3

Which is an organic compound?

A. Glucose B. Urea

C. Sugar D. All of the above
ol As el sl ueld slollals B2

A ogslos B yRa

C s D Guretl sl

*hkkkhkhkkkhkhkhkkihkiik
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